EHTBF

s
o
—
‘n
I



PEHT

RS
BT S50H (HENT Y 5 7 T (R3)
THEXS | T [l fmo HikE HAfL S i
SP-25H%! (SY295) $fARMEL (L=9. 5m)
SO T | ssemnr, s, TR e 30
SP25HM!  1=9.5m FIAR6mMULT A 7o~
T L O, ® m 36
AET ABRIN v HiAay))-b, [EERTY vET (BUE) e 36 36X 0.9=32. 4m
N VT
CHRUN R HiAavp)-h, BERT VETe (BUE) bl 1 1X3.6=3.6m
HpfsE B t=20cm m3 2.7
FEAET
TR L KA L £5cm m2 13.5
HAMF iR m 67
HIAT HIAT
SIS AP AL m’ 38
PEEEE-1 m 36
P B 1 [ B2 m 36
s B R Wi m 36
SR
T R = S A EN RN 3 FEAEE t=50Ccm n’ 230
|s]j§;q% . wT
L RIS B Hb 5471 (5T 4
Fmft B EGEIRS m2 176
Fmft B = m2 54
1)@ T )& T HRYERA IR m 36
B fies 16
M 1] —
Mg LT, Tl A ni 102
a7 U — kER ot 118 |14. 4KmPL T
WA m3 89.6
E%T fET s m3 89. 6
2= b DIDA  L=2.0kmPA T m3 179 |Bish— (K E S
BEAARHI m3 70
bR
+ T HHE PR ) m3 27
DT DIDA  L=2. 0kmPA T m3 97 |BG— &Y




LR -
B -
T

weEa (A FEIA A, G, A L=2. 0kmLL T m3 60
WEAEIBL | o GRA) FRIA A, W, A L=2. 0kmLL T m3 34
%é?‘ AT L FKHPFEYS L +50cm m2 62
WERL m3 18
HET
T-rbiE m3 18
154Kt 3000 X 1900 )
HEAKT H 1
15BOXH L s3— | 1500 X 1000
m 2
e e R vy hA—H AT m2 18
iﬁﬁ TR - SV - Jn=3-1v=s80t BLL T = 1
i E
MHFHE 1.Okm 32.21t =X 1
$%§§£ﬂt T LR - i Hph7n-} ¢ 300 40m fEA H%k60H = 1
B L
Hihra ety =400 A RAR L, EEE T Tl 2




1.80% R T
1-1 $f &R

190,007 HgiE
10.0 .
— FATA-E  EHSE 20 LETATER (280 L=1581 m 5 |ohARiE T 1
828 k=20:000 EHERI 20
T [=10,000
SR T2, 06 126 B3
‘*‘fﬁ]ﬁ Efiv 1266 fzds 2 e
oo s e
£0 4100 v ki .87 PR IBSRET
BOX1500 % 1000 B 400
- 80w ; By i g T =iile
; =i i
. =%y i LA W B | ==
= BRaRAE 4
- T il{Kv2 INEH H N (R <Z%VM%4ﬁxé‘a'a§
| T 1
(it
= -0 809 I
00 LWL +000g
—Fmr | ==
i I L oo
5.0
- Wy
E = ==
T - =3 Al
[ 199 4 B o 675
s=i/ %H oz oyt
DL=10.0 L

1-1-1 SHRAFE (1L=9. 5m)
#ocHR  (SY295)  SP-25H7

IR (L)=
N= 27m/0. 90m=
PR e
1-1-2 SRMRFTRR
IR (L) =
N= 27m/0. 90m=
1-28b R - s
fE R (L) =
1-335 41 58
AT H300 X 300X 10 X 15mm

EZE H300X 300X 10X 15mm

B

L=9.5m W=0.113 t/mX9.5=1.074 t/#Z

27.0m
30. 0f%

32.2t

27.0m

30. 0K

27.0m

10



1-2 HBER

ARERTER

N 30

FEHERS A t=20cm

30X0.45X0. 2

LML £5em

30X0. 45

$=1/20

660

900

100] 260 | 300

e

2.7 m3

13.5 m



2.E8T 800 +10
130 670 ﬂ/
50| |26@60 | 100 =
EEHID® Y\
g 215 o
C Ss z i
ilang B K =
— 1201
250 | 300 UJ
130
T O RO K
9,000
1 8, 980 1
190 42@200=8, 400 10l
9 9
@® B4 25-D13 @ B2 1-D13 @ Bl 1-D13 @ B3 3-D13
S é e e
2 S OO T T T T |
0 ;i 90-D13 900 L 1,800 J 1,800 1,800 L 1,800 900
@ B5 20-D13 9,000
A\ /1N ] VAN A\ /1N A\ ST\ L\ /ﬁ\_‘
LS T LS T LS T LS T T
i i
@ B4 25-D13 900 1,800 1,800 1,800 1,800 900
EEHTO Im47-v
SR
A8 T 0.6X9 5.4
Rl 0.67X0.6 0.40
it 5.8 m2
av))=h 18-12-20
(0. 353+0.237) X0.6X10f« 3.54
(731 D13
BRHE LD 114.3 Kg
H Hh
MEWT ST 0.6X9 5. 40
Wi 0. 67X0.6 0. 40
7t 5. 80



& B9

D13

EHIOG

® B5 8-D13 /

A-AMr m +t B IO BB
9,000
42 670 10 8,980 1p
s 260’16 100 1000 43@200=28, 600 9100
g © B8 16-D13 r- ® [B6 20-D13 @ B2 1-D13 ® B4 3-D13 ‘H ©® B8 16-D13
] — 8] g |
”_! IJ‘ _2 4 of é I 9 | 1 1T < S | L § = * o 1 \' 1l } - - 11 o
- 8l~g— e e e e e gl
= T
" _® 87 20-D13] l ® B1 1-D13 | [5 B7 20-D13
® B3 {-D13
1. 800 1. 800 1,800 1-800 1,800
B-BHE @ tBIGTE
CE/NRJVXR L=3600
812 838 1980 182
4@130
100}, =520 1100 ® BY 22-D13 ® B6 20-013 © B5 8-D13 ® B8 16-D13
5 B5 8-D13
®) B8 16-D13
o= T === I
i T T T I V)| M PR SN /T /T o o
] <l ® B7 20-D13 1] ‘ T TNV T R Al =
1717 S ') i | | i
25 9[ 4t - ® B7 20-D13
N 1,800 1.800 1,800 1. 800 1. 800
FHTE 1:847=9
SRR
Al (CADHEAH) 5.31
T (CADEAI) 6.37
UER 0. 67 X0. 6 0.40
it 12.08 nf
av))=h 18-12-20
(0.67X7.02+0.812X1.98) X0.6 6. 31 m3
EZSiL] D13
BRHE LD 129. 2
H Hh
el Jra (CADTIMAI 5.31
WA 0. 67X0.6 0. 40
it 5.71



3. VL
ARIN v

R L ElY T
(BT _ H=1/500
V=1/100
190, 007
187, 400
A Lavy) K F 59,100
15 Iﬁgz‘st — KPR ]159, 1
4,000 =18.000 _,_9.000 LI 14@9, 000=126, 000
[EETQ & T2 EHID LHIG
(BHBFEET 1206 ¥ — .
2+l
pao BOX 1500 1000
|
g3
T 42,80y
IIIIIIIII1IIIIIIllg“!!ilIIIIIIIIlIIIIIIIIIIIIIIIIIII
LWL 000
e 000 0000000 iwe -
RN AN
» e 3:
bl B - .,
B e 2 %ﬁ? 3
-~ =
B S = 2
i 2z g8 =E =
13,500 21. 600 18. 000 18, 000 18.000 18, 000 18,000 10,800
31@900=27, 9400 146@900=131, 400 AR/ SR
179,100 (F Lo+ R bSAFLEHERME) | 575
U bl
~ i . T~
AR N R L :
+1 812
0410 —800+10 ‘
2] | / \
/ \ 2
HERsElE / \
v +2.80 / \
) SRR ¢ s TN, W, . /
8 T _wmwml g / \‘\ g g
w290 [} / \
i D25 | \
| VR ER = | =
o4 S 20+10
"""" ! o \ | Q
g / 300 | 250
8 <8 \ | i
8 g \ /
o \ /
\\ /’/
< v=000| || | i &
< =
8 &
g
3 2 g
3
S v—100 éﬂ \ p s
zkm:-w;u—ﬂ [ S

ATRIT" VERYAIN K 9m2Y4 7=

ViNEEV/URI 30-15-20
0.236X1.0X9 = 2.12 m3
VNS EV/URI 30-15-20
0.236X2.2X9 = 4. 67 m3
AFIN Ry BO. 9XH3.8X t0.13 = 10 i
SFILVERE = 10 e
$5455 ¢ 25mm 0. 9X0. 00385 X 10 = 0.035 t
XA o 25mmHEEHE4mm 0. 04X 2X2X 10 = 1.6 m
TV)T VR B = 10 &
Ty Vs E AR 4mm 0. 05X 63X 2X 10 = 6 m
AHpay7)-h B HA4 ¢t =10mm 1 T O A
i 3%0. 4 1. 20 m2



CHUN A
KRB Y TR

(BETERE) 5 H=1/500
V=1/100
190,007
187, 400 2, 60) IR
WEAS Y FHEM 20,000 K R159, 100
7@9, 000
000 =18.000 9,000 LHTEH  14@0. 000=126 000 SIpIABRET
#IZ4 EHIO | EHLIG Y 4R
=20, 000
@ +1.02 BKE# 41,82 2SIRIERT
BOK 1500 % 1000 P

- [ 381w

42809

H LiL $000g
Loy

F il s o p
18,000 18,000 18,000 18,000 18,000 ! 10,800 11,700
146@900=131, 400 AR
179.100 (F L4 R btV FERM) 575

kebavsy—b
CENFILEAER

$=1/30
812
[
AR S 2L C&E /v 3 )L L=3600 AR R L
838 1980 182
avyy-+ 21-8-20
v DL+2. 80 ‘%éo’—b—”” /
TR P s (T A i
v WL +2.10 B ~ = B - ! =
—_— &
= RESRT-1-E 3 : g sir@EEsa /s
L7p*75%7 =L, dw @ b, LA R BJX1500x 1000 /
: vDL41. 02, ’ l S ;Z/ ~ F
“ 2l S “ T L
s . ] 1=2.0m ‘
g L i . 0,00 3 A npEEe R (L70+7547) ] T T
= 1] [H-1005100%6%8 (/5% 0 m ik |5 b |
1| i | |
= = 5 o Jag L |
8 L el 1
\—“\7 | 1o 1o
CHI7" VR gAY R 1204729 L=3.6m
INGEEZE 30-15-20
0.236X1.0X3.6 = 0.84 m3
NEZE 30-15-20
0.236X0.85X3.6 = 0.72 m3
CHIN v BO. 9XH3.8~4.8X t 0. 162 = 1 HH
IRV = 1 i
TU)T VER T = 4 &7

70" WE E P A E4mm 0. 05 X6 X 2X 4 = 2.4 m



I
et
r.>:
H

4-1 ZAM
AN
. At Wr I EEWrERE | B &=
~E| - \;E = = =
//\J EESN (m) (1’1’12) (mZ) (mS) #ﬁ
No.2 +0. 930 — 2.5 — —
No.3 19. 07 2.5 2.50 47. 68
No.3 +7. 930 7.930 2.5 2.50 19. 82
= i 27. 00 67. 50




EHIAY L
i . Bt ik =S SEHIGE e = & N
e g S
(m) (m) (m) (m®)

No.2 +0. 930 — 1.4 — —

No.3 19. 07 1.4 1. 40 26. 70

No.3 +7. 930 7.93 1.4 1. 40 11.10

= 7 27. 00 37. 80




5ERT

5-1 BRL
HEE
. R - Vi T A SE MRS | B &7 N
& , , ; i
(m) (m”) (m?) (m”)

No.2 +2. 730 — 0.5 — —

No.3 17. 27 0.5 0. 50 8. 63

No.3 +18. 730 18.73 0.5 0. 50 9. 36

& & 36. 00 17.99




5-2 ZiET

ZHRY
. SR - JiIS LR b'e & »
M S E = fiid
(m) (m) (m) (m2)
No.2 +2. 730 - 0.5 — —
No.3 17. 27 0.5 0. 50 8. 63
No.3 +18. 730 18.73 0.5 0. 50 9. 36
& & 36. 00 17.99




FiR (B=1. 00 m=0.3m) =36, 0n

| T 2 (B=1.0m ©=0.3n) (=36 0m
- N
W1 Bo.On ho0.3m) L-36.0n
Pt T (t=B0cin) A=230n%

EL B BA A MR (HElim)  L=36.0m

BIM 7 La & by 3O LEEERL=36. 0n

HIPTARFER (+2.00] L=860 n

eE - HEEEAT Lo .|

&
ped
al o .
£ 1-SBOXAN -+
1500 x 1000
12 sk
o B e =
‘ =
! ! o !
s B 2 < o
G !'“L\Lr\ S 9 %\\ oy T R{l T
VE masEA L=z 6 N
i
7T N
= 8 g \:\
i
412 6800 !
812 3400 1000 1000 1000
|1
| 1 [v+3.81
SnA AL 1
H=11m 1
i
i
i
R TRIEH V2.8

SERWEV25 | |-
AT e V2 2

a9+ 21820

2 A I
280 x 147 X 3800

i N\cxy S

skepavhy-b  30-15-20
(V0. 0yl #iTE%)
HES-5am () L +5cm)

ERER t=20cm

SRZRIR (SY205) SP-25HE! L=9.5m

MSER 1E% 9.0m %=y

BHT

oy
P
pais
=

0.3X9.0 = 2.70
0.3X1.0X1/2 = 0.15
2.85

SE
ok
=

EVZAR 21-8-40 0.3X1.0X1/2X%X9.0 = 1.35

kil t =10mm 0.3X1.0X1/2 = 0.15



TEET

SIETIEAEES t=50cm 1R

B ikt
PER S VAT

Noy 2 .
No, 3

Eih (B=10n h=0.3n) 1=36.0n

. MBI

(B=1.0n =0, 300 L=36,0n il
BT (B=).0v h=0.4m L=36.0n
Y- HESET (t=500m; A=230mT

W W M ol imp 136 Om

o HIET L R bl L EEER AL08 On

EETAPER 2800 L=360 n

o155 - WEREIET L=36.0n

15B0h
1600 1000

15 %okt

A

t=30cm

21-8-40

t =10mm

150X 150 X6

SEETIER

m

LBIREEV2 8

RISESE

FUTHEY-2.2

-t

ERYDEI AL
B0 147 3800

V25

21-8-20

o — %WH R e e R
e e — ‘ =
} : —— P
4 . ) \§\ s U T Qi
% n . Ny LR
Ttel ERMHRA L=07 0 N
"l N
g 8 =
% 3
g _ SRAx4R SP-25H 301900=27000 S
” an
(o __ m w0 __we

\ b0~} t=50m ' 21-6-40
\_gmEmt-am

5@% N

Ng,
. &
L DX )
25

X

7
Kepasp-t  30-15-20 AN
(V0 OKPLAEIETE) ]

s -som (Lxbom [ /[ 640
EHRE (=200

WK (Y295) SP-2HT 1=9 6n

Y]

FRYERR

3. 30

230. 40

3. 30

36 X6.4

X4

x0.5

X4

|
i BBy U~ (EE)
|

230. 40

13. 20

115. 20

13.20

230. 40



1T

B i s
A w7 rA—
LAY - R i op
H Hief 5 Lt nEF00=L2 L3 NWEO0=L1 w o e | A o E By | Ll (‘ ,‘H‘A Bl ek A i =
o (i)
| 3,400 3, 000 18500-2, 000 100 450 100 15 $19 600 2.23 20.07 4 60 80.28 $8400
S Tt L6500~ O H
o TTES0U=S, 5007 t 45 o
(EkiR 300%7 6, 4mx 4B 25.86 m
A [
e 419 (88400} 80.28 ke

HEFREHA LFEAER

$=1/50
142670 3,400 1,000 1,000 1,000
SR AL HR
5 i AN M R
1 t=10mm
I I o | | | | h=500mm
:! ‘I : II|||||IIIIIIIII|III:||||I|I| U : |: lll I(II ! JALILLYI [ II ﬁm
- s BN L A
i | A
I ¥ DN 7l
o - I ERES | R_ EABMH R
5 2 g ] t=10mm
& = I SR :
—— - — = - = i I i R R e R ey g
Eéggf””:“ﬁf:l B tOTH0 ‘
§ I ::” ot T Lo
8 - i Er
Z, H i fmmimm |ﬁ:§|”:[:
gl aff|| f——
— N~
——-=cH-H- m»iullnwml!IIIII|I|III||IIII|||II||IIIIlnnmnnunm BN o)
- L] g
=3 = | i i
d 3 >
A = o
—-
nl
§ fEEH 15254 (B)
—_ ) ::III T |:n|u: t=10mm
h=500mm
1= I N B O (i

H
17K BR 300X 7 25.6m
Ay7 N = $ 19 (SS400) 80. 28 kg

FE LT 6.4X9=57.6m
MES &4 BT 44, 1/57. 6 X 36 X 6. 4 176.4 nf
Lrar s B 13.5/57. 6 X 36 X6. 4 54.0 m



8. TR
8-1 ¥n&fHILMERE

L=

36. 0m

X (B=1.0m h=0.3m) [=36.0m

REFRT-2 (B=1.Om %1=0.3m) L=36 Om

BEEET-1 (B=1 Om h=0 3m) L=36 Om

299~ T (t=H0cm) A=230nd

§a 3% 5 Ab (=L (m)

L=36. Om

@A T L& xR b LR ERERL=36.0n

e T S

EETRERM (+2.80; L=36.0 n

No. 2+4. 730

$m . WEAEIET L=36.0n

1280 —
1500 % 1000

i -z N - .
& & 5 5 5
ST = = - . "
. i s e i =
i T = = e s = ST 2SS =
T T O S T BT q S
/ e g - lé N RV K{l\ v
: 8 q Hoo ' g 1§ n Qg
] L& o v N VRV o) ]
/ oy & 00 L RRE maema cop B BN
f /r © N
i 5 g O
|- =3 O ES
o 3
=2 5 $M%4R SP-25H 304900=27000 ,%
fh % W OF M
$=1/20
1t 3000 3000 EPZD S ;1)
75 75
198150=2850
FEY 78IV ETHR #itrt Xt 60, 60.5
/48, 6X2.3 742. 7%2.3 21.7X1.9 60.5%3. 2 S
1 =
; / :
i 7] ¥ &
oy / ) i
I
/ | S70[|
Lo 8 8
I - —
B = = 8
I 8 8
I
]
I ot -
[ ! 3
g
A2 Y B R /S JVER{H B
S=1/4 S=1/4 o
2032 60.5.4 2032 60 __ 60.5 2065 4 2965
[E— SELTS Y b
L V| ! i
1———-:-_—_ | S ; L L e = 4 I
L allo ol oy R 4 FryT 1 & I
i hd oy ] >\«\</ . | EHRL bX
I i WIOXIOARFAFAR S UL b
T —r— !
©: BRI ot BRAFHHAL A
TR LS
j WIS ABRETRE SAL ~ ‘\ MI0X25 < f7R R4 L +
il I N [ | 5




9.HURLT

9-1 #R4ERR

ficEs L CREHRED) L=27. O
s - AT =26, 2T
- 5 5
’,“ = =
g e o
b o L e
___________ B R S - -
I | ® I I i\ I I el
i m n &
5] ey O
e Q w \Q‘\ Q Q, Q, Q/\I
o Q B Qg Q
Qg o NN
N
— =
/" RN
A ‘\.\

WE W E R CGEEDR

$=1/50

& EHIVYY-E
A=0.59mt

ARIVY)-b

+2. 80

L
51 \
PR 14720
v ) -} 0.59X  27.00 = 15. 93
EFH 27 ) ) 3.78X  27.00 = 102. 06
a7 Y — Mk At = 117.99



10. ET

10-1 B#EE
10-1-1 AM L CGER)
. sl i BT T A MRS | K ) \
~H| ,I{—i = = =
No.1 +19. 730 — 2.6 — —
No.2 0.27 2.6 2. 60 0. 70
No.3 20. 00 2.6 2. 60 52. 00
No.3 +6. 730 6.73 2.6 2. 60 17. 49
= i 27.00 70. 19




10-1-2 AME Wima)

; S| Hife Wr i A VWS | 2K =
~E| )f_i = = =
No.1 +13. 730 — 3.2 — —
No.2 6. 27 3.7 3. 45 21.63
No.3 20. 00 3.1 3.40 68. 00
= g 26. 27 89. 63




10-1-3 M a)

\ WL BE | ool | oFEbnmm | K &
\H\l ;I{_i% = >~ >
Wiz = (m) (m”) (m*) (m*) -
No.1 +13. 730 — 3.2 — —
No.2 6. 27 3.7 3.45 21.63
No.3 20. 00 3.1 3.40 68. 00
=) G 26. 270 89. 63




1. #2851 T

11-1 T Hb4EHI
- B HI
. it i BT 17 A SRR | K =
~E| )f_i% = = =
//\J EE s (m) (1’1’12) (mZ) (mS) #ﬁ
No.2 +2. 730 — 0.8 — —
No.3 17. 27 0.7 0.75 12. 95
No.3 +18. 730 18.73 0.8 0.75 14. 04
& i 36. 00 26. 99




12. #RLIT

12-1 &R
WA
£ 5 it Bt BT 17 A SRR | K ey i
nH (m) (m?) (m?) (m®)

No.2 +4. 730 — 2.0 — —

No.3 15. 27 1.7 1.85 28. 24

No.4 20. 00 1.4 1.55 31. 00

No.4 +0. 730 0.73 1.4 1. 40 1.02
= 36. 00 60. 26




12 #RLT

12-2 &R
A
. itg] Bl BT T A SRR | K e \
~E| ,I{—i = =~ s
No.2 +4. 730 — 1.7 — —
No.3 15. 27 1.0 1.35 20. 61
No.4 20. 00 0.3 0. 65 13. 00
No.4 +0. 730 0.73 0.3 0. 30 0.21
= g 36. 00 33.82




12 #RLT

12-3 #ERRHL

¥ L (+£50cm)

BB it R IR ¥ & i
(m) (m) (m) (m?)
No2 +4. 730 — 2.1 — —
No.3 15. 27 1.8 1.95 29. 77
No.4 20. 00 1.3 1.55 31.00
No4 +0. 730 0.73 1.3 1. 30 0.94
=) 36. 00 61.71




13. kT
152EKPE 14740

15 % K # . B-Bi#r @
A $=1/80 A-Alg @ e E—

1500

Lm0 i o 2.600 b 2!

o
160
2 003
2014

1,170

b 9 ”
SN 1570 B 183
L 5 &

R ¥
NN \
NN n 5 aon

2,600

Lzl

M EA t=20cm
3.2 * 1.90 = 6.08
TR
(3.0+1.9) X2.03X2+ (2.6+1.5) X1.853X2 = 5.2

ay)y)—p 21-8-20
1.9X3.0X2.03-1.5X2.6X (1. 853-0. 25)—0. 605 X 0. 605 X 0. 13—

1.5X1.0X0.2-7/4X1.35 " 2X0.2 = 4.6

v T-14 600 X600 X130 = 1




1 5BOXAWA —h 120 7= D L=2. Om
HiEH 2 t=20cm

(1.94+0. 2) X2.0 =

o 30-15-20
2.14%0.1X2.0 —
BOXAn™ —h

1500 X 1000 —

4.28

0.43

2.00

1-5BOXhln - b E B

(BETER)

§=1/20

1,940

220

1,500

220

220

1,000

220

1,440




P

= =
B 5]

(G e BE e PRI )

1. ¥EREE LT - B abhEy
2. WEREIRL - EHAAMEEAER
3. LbRH - LAbEW - P LA REAE R
4. TEWRE - SRR HGERR
| o O it~ —
Q ﬁ.,,):q\"-
EWEIEEEL=2.0kmLLF (1.9km) = .
\ = I.IJ
® ;
sz €
TE i 2R
L=10.0kmKii
D= s —T HE Q)
i .
ﬁlﬁi’% Gouogle FERE—F
B
N =N % e
w a 5 L
4 PR B £t E " =Y ¥ & E/r
(1. BEBUE LT - MERER)
LRERE  L=2. 0OkmPL T G — R IES 179 m3
(2. BBAEERT - HEEMEAER
AR FEIA BT T 60.3 | m3
AREE  L=2. OkmPA T RES—B5 60.3 | m3
(3. LWRHEI - R0EWR - S TRREAER)
+HbER  L=2. 0OkmlL T Bl — e 97.2  m3
+HbiER;  L=2. 0OkmLL T &5 — B 18.0 | m3
(4. E#RE - ARBER
t/ 8 e
FHARMOEM | 10kmA i WM+ FEHELAS - HBGERE L 1.074 X 30 32.2 ¢
&t 32.2 ¢t




